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®E Binary releases - Code:Blocks X +

e

C @ codeblocks.org/downloads/binaries/

== Microsoft Windows

File Download from

The IDE with all the
features you need, having a
consistent look, feel and

codeblocks-20.03-setup.exe

% codeblocks-20.03-setup-nonadmin.exe

codeblocks-z0.03-nosetup.zip

O i codeblocks-2o0.03mingw-setup.exe E

operation across platforms.

codeblocks-20.03mingw-nosetup.zip

codeblocks-20.03-32bit-setup.exe

codeblocks-20.03-32bit-nosetup.zip

codeblocks-zo.03mingw-32bit-setup.exe

NOTE: The codeblocks-20.03-setup.exe file includes Code:Blocks with all plugins. The codeblocks-20.03-
setup-nonadmin.exe file is provided for convenience to users that do not have administrator rights on their
machine(s).

NOTE: The codeblocks-zo0.03mingw-setup.exe file includes additionally the GCC/G++/GFortran compiler and
GDB debugger from MinGW-W64 project (version 8.1.0, 32/64 bit, SEH).

NOTE: The codeblocks-20.03(mingw)-nosetup.zip files are provided for convenience to users that are
allergic against installers. However, it will not allow to select plugins / features to install (it includes
everything) and not create any menu shortcuts, For the “installation™ you are on your own.

If unsure, please use codeblocks-20.03mingw-setup.exe!




u Start here - Code:Blocks 20.03

- X
File Edit View Search Project Build Debug Fortran wxSmith Tools Tools+ Plugins DoxyBlocks Settings Help
FRBMLINRR|AR iG>0 B> EEE LG Y DRI
v e MR R Es[<|0Eido b
X OME =EeEEEoco0|QQS C: ERY e > £ €5 ha x
tManagement X ||
Y Projects  Files FSymbc—IslIl ~
@ Workspace
-e
' Code::Blocks
The source, cross-platform IDE
A o ”
Belease 20,035 rev 11985 (2020-03-12 18:24:50 gcc &,1.0 Windows/unicode — 64 bit
- S )
I Create a new project % Open an existing project Tip of the Daw
@] ¥isit the Code::Blocks forums Report a bug or request a new feature
Recent projects
Dt vFrojects ¥ AlgorthmShorte stFath 2llW ShortestPath All¥Shorte stPath Al chp
CitdvProjects W TestW Test¥ Test cho
Recent files v
Logs & others x
' [# Code:Blocks X (Y Search results X [#] Cccc X L¥suild log x # Build messages X [#] CppCheck/Vera++ X |#| CppCheck/Vera++ messages X |#] Cscope X LFDebugger X [# DoxyBlocks X  [F] Fortran info 1]

Start here

default

5



. - |
New frd | Console application X | x
Project E Console Please select the compiler to use and which configurations
Build t you want enabled in your project.
Files _
Custon F:Gmpller: |
User te GNU GCC Compiler Y
Create "Debug” configuration: | Debug
"Debug” options
Qutput dir.: binWDebugt
Objects output dir.: | obj#Debugi
ons
Create "Release” configuration: | Release
"Release” options
TIP: Ty Output dir.: binWRelease
1. Seleg Objects output dir.: | obj#Releaset
2. Selec
3. Press
|| < Back Finish Cancel




u *main.cpp [HelloWorld] - Code:Blocks 20.03 - X
File Edit View Search Project Build Debug Fortran wxSmith Tools Tools+ Plugins DoxyBlocks Settings Help
FRRA I NE Em QR])% > 8 & 0 |beby VB> EEWL LG Y DB
: <global> vl ViesmEB RSy ~<|B@Aidop
L OMA=E=EEOCOC|QQ|S C v R X D R A= Build & Run: F9
tManagement X *main.cpp X *
! Projects | Files | FSymbols *! 1 #include <iostream>
@Workspace 2
= Helloworld 3 using namespace std;
=8 Sources a
+[1) main.cpp 5 int main()
6 {
7 cout << "Hello world!" << endl;
8 return @;
9 ¥
10
1  #include <stdio.h> 'ES|
2
3 3 ol=a1irt E
3 | int main() St=ZE / W
4 |2{
. O T
5 printf("Hello world! \n"); QEZE \
6 retrun 9;
7
< >
Logs & others x
' [# Code:Blocks X (Y Search results X [#] Cccc X L¥suild log x # Build messages X [#] CppCheck/Vera++ X |#| CppCheck/Vera++ messages X |#] Cscope X LFDebugger X [# DoxyBlocks X [F] Fortran info 1]
D:¥MyProjects#Al gorithm#HelloWorld¥main.c; C/C++ Windows (CR+LF)  WINDOWS-949 Line 10, Col 1, Pos 117 Insert Modified Read/Write default =
Ml 9 pp

7



H Start here - Code:Blocks 20.03

File Edit View Search Project Build Debug Fortran wxSmith Tools Tools+ Plugins DoxyBlocks

;E@galaam@@\;@»a@m

_I > Editor...
D UEGCR U & G BI@E\

%|E|WB|EEEE|D{E

Configure editor

X

] General settings

ﬂ

Management x
¢ Projects Files FSymbols - ~ Editor settings Other editor settings C/C++ Editor settings Encoding settings ~
@ Workspace Font
on
This |22 » Choose
E— [JRest
General settings ABd =E ZE AEFU:
[] Det
Oue EEEST
fATAg Constantia Jeglz
~ui \ TAB s |Cooper =A
COPPERPLATE GOTHIC =2 .7|%°|:||3é"—
Folding
Inden Corbel
W
Aut i —
b1 Core Gothic E 6 v SlaZeE W
[=]5m L =1L —
: Merag =4 =7 -
0O Il E
i
MBad a0 ST — \
= [dshg AaBbYyZz
Margins and caret Bra EEES]
[J5els
Ay A J 2l E Ry
Select S =3 EER):
R Cend [ EEZE MEREL v
D Eﬂ( W
Logs & athe l ) D All X
[#)Cods | Syntax highlighting : Cscope X LFDebugger X [#] DoxyBlocks X [F] Fortran info "
LHE == 24
‘ 5ol
% | L
Cancel
Start here

default
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Build & Run: F9 HelloWorld¥bin#Debu gWHelloWorld.exe
Hello world!

Process returned O (0xQ0)  execution time @ 0,408 s
Press any key to continue.
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1 #include <stdio.h>
return 0; e .
Lot A 002 w4 B2 | i
5 printf("Hello world! \n");
5] retrun 8;
7

printf("Hello world! \n");

rir
N
olr
[0

eprintf() : EE =8 X0 =89} S
« Ol=: "Hello world! \n" £ printf 2t= B0 ME

#include <stdio.h>
cHZE Y=Y =0 Ot AEE 7HX|LD Qe stdio.h 2t L2 =2 2LCF.

Xt
o
-2t WO EXote 282 20l MOlZE =4 ; & 0.

|O

(= 11
=2 €
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g OolHY

123
1234

* (fixed-point data format)

<« <F

-

/ 1+
< {df

I

-12
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Ce 2| X}= (data type)

A-I—
- JT%:J

e char ........

(2A1E) - <AE MY =2 FAtE NI

[jot

character

+ short EEEEREEE EERREEEE

short int

int EEEEEEEE EEEEEEEE EEEEEEEE EEEEEEEE

integer

- long EEEEEEEE EEEEEEEE EEEEEEEE EEEEEEEE

long integer

*longlong  HENENEEN ENEEEEEE EREREEEE RERREREE
64bit long [ HNNNNEE NENNEEEE ENENREEE EENEEEEE
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1.01101001001001 X

\
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A*
- égﬂ'%;
e float
EHYE MuE
*4byte(32bit)
228 X5
e double
HIEE HEE
«8byte(64bit)

H&H A H
T2T X5

Ce 2| X}= (data type)

25 (274 O[5t eAte|HAl)

2 (258 0[or 15A2|7HA])
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C0{2| XI=R A (data type)

MNAS

o T o
(X char
short
int

e
long

long long

float

A4y

double

2B

4B

4B

8B

4B

8B

8bit

16bit

32bit

32bit

64bit

32bit

64bit

27 ~ 27-1 (127) 0 ~ 28-1 (256)
215 ~ 215-1 (=3.22h 0 ~ 276-1 (56.52h
2231 ~ 2311 (=219 0 ~ 232-1 (=429)
-231 ~ 231-1 (5219 0 ~ 232-1 (=429

263 ~ 2631 (59227) 0 ~ 264-1 (5184474)
3.4x10-38 ~ 3.4x1038

1.7x107308 ~ 1.7x10308
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H=~ (variable)

. E—JF9| 9|D| #include <stdio.h>
'HEH= 4 2= o|O| int main() {
AREOIA 2ATLE ZI2AN7I7] 2AH AL e e
R age = 20; // H=0| 25
 AIEE NAot= &7 OlEL =9 7
T Z20{H{7t O|lF(H+FH)=2 288 char blood = 'A'; // Z=7|%}

double pi = 3.141592;

printf("age: %d \n", age);

cMOIS B SIEE AR Jt:s printf("height: %d \n", height);
N printf("blood: %c \n", blood);
o« — OlA} 7t SiCt
JUAE WS TS printf("pi: %1f \n", pi);
MO A0 & s (=7]=} printf("pi: %.21f \n", pi);
L £7|3} S| OB ME7| Zto| S0{9US. return ©;
}
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KW QIR MTE 2XHO| AAY XA £

#include <stdio.h my age. <0
include <stdio.h> my birthday: 2010/10/31
Good
int main() { morning

int age = 20; EUEIE

int year = 2010, month = 10, day =

< "\

printf("my age: %d\n", age);

printf("my birthday: %d/%d/%d\n", year, month, day);
% : decimal(10%)

prlntf("Goodijhorn1né:>everydaj:>"),

\n : new line

%d 2| 2|0]:
decimial(10%)
1022
=&ol2t= 9|0




RE

At

= NA ZAe| SR/ 1 2|0

MAZ A =8 el
%C Y =X}
%d 2z A= 107 He
%i 22 A= 107 H=, %dt 22

%, %Lf 23 A= 107 A=
%s =Xt<
%0 22 ¢l= 8% A=
%u 22 9= 107 =
%x 22 =168 B, 224 ALE
%X 23 Q= 167 E, HEAL AL
%e e H7|B0f ofot A==

%11d, %1lu| 53 U=, 53 Q& long long =

%8 20f W2t %f, %e & & StLHE MH
%G 20l kM %, %G = & StLIE M EH
%% % 7|2 =&

#tinclude <stdio.h>

int main() {

char blood = 'A';

int age = 20;

double pi=3.1415926535;

printf("blood:
: %s. \n", "Reinhard");
: %d. \n", age);

: %1f. \n\n", pi);

printf("name
printf("age
printf("pi

printf("blood:
: %10s. \n", "Reinhard");
: %led. \n", age);

: %10.41f. \n\n", pi);

printf("name
printf("age
printf("pi

printf("blood:
: %-10s. \n", "Reinhard");
: %-1ed. \n", age);

1 %-10.41F.

printf("name
printf("age
printf("pi

%c. \n", blood);

%10c. \n", blood);

%-10c. \n", blood);

\nm\n", pi);

[Z12 M A

blood: A.

name : Reinhard.
age : 20.

p1  : 3.141593.

[22% ¥

blood: A.
hame : Reinhard.
age 20
p1 : 3.1416.
(2% dH]

blood: A

name : Reinhard
age : 208

p1 - 3.1416

22



A At Xt (operator)

H| 2

7|

_..A jol

]

= CAHO|
oo |

il
M1

1l

K

%

LI K|
ZCt

—t

<4
g4
%0

Ct=C}

Al

3ct

-l

K

—

<4
g4
100
o

And &&

2|

Or

J

|
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%

H L X operator)

OIAFKIQE At OIARK

—_—

L L L
ke

ALK LEZRO Ues dfsS ALR 2F0| U}z H=0 O oL
0f)) num = 20;
T O|HLEREO| XS oLt
O) num = 4+3;
21 EZ OfALXIC| 2o REF M AHAK}; 4= T
0f)) num = 4-3;
T O|AHLXS| gfS &etht.
Ol) num = 4*3;
2 Zo| mALK} IS RER O[AMK L= Lix &2 o0
o) num = 7/3;
2ol O[AHLMR 2tE REFR LIAMKX ¢ =2 L LIHX|E FetCt,

0l) num = 7%3;

[
o%
L

T

ot
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H L X operator)

« O QLbREeE ths QAR 25

#include <stdio.h>

int main() {

int nl =9, n2 = 2, res; B D:#MyProjectswAlgorithm¥bin#Deb
res = nl + n2;
printf("%d + %d = %d \n", nl, n2, res);
res = nl - n2;

printf("%d - %d

%d \n", nl, n2, res);

_.
'
-
-
_.
i
-

printf("%d * %d = %d \n", nl, n2, nl*n2);
printf("%d / %d = %d \n", nl, n2, nl/n2);
printf("%d %% %d = %d\n", nl, n2, nl%n2);

25



H L X operator)

#include <stdio.h>
AERE
o ALO| qf o|q| 24k int main(void)
{
printf("%d", ++a) M B2 = AL < int a=10;
printf("%d", a++) | &1 AL =T FIt & at+;
o o printf("%d \n", a); // 11
L] 110, mn A _é_ A
printf("%d", --b) M, = G < ++a;
printf("%d", b--) | & G, T L2 'S printf("%d \n", a); // 12
int b=10;
b--;
printf("%d \n", b); // 9
__b;
printf("%d \n", b); // 8
return 0;
}

26



H L X operator)

—r
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A At Xt (operator)

< CIAKE @459 A% - CIAMR ZTHUE A%
#include <stdio.h> #include <stdio.h>
int main(void) { int main(void)
int a = 10+4*3-1; {
printf("%d \n", a); int r = 10-1-2-3+445;

printf("%d \n", r);
int b = 10+4*(3-1);

printf("%d \n", b); int a=3, b=4, c=5, d=6;
a=b=c-=d;
int r=4+5*6/(2+1)+15-5*2; printf("%d %d %d %d", a,b,c,d);
printf("%d \n", r); }
) 21
18 13
19 bbbb
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scanf() &
» I HEZERH Hf ?:IE—:'.% F|et
scanf 22| 2

B valoll xEst2t,

1

scanf( "%d" , &val);

1

10%14 MAHO2 9l2f HokA]

084+ mag oolel [t || 5 || 4 |2 et wory
scanf("%d %d %d",

&a, &b, &c):

| TT]

#H4= a, b, cof

XiEeict,

8% Y

#include <stdio.h>

oJofl M=

int main() {
int nl, n2;

printf("input nl1: ");
scanf("%d", &nl);
printf("input n2: ");

scanf("%d", &n2);
printf("%d + %d = %d\n",nl, n2, nl+n2);

printf("input two nums:\n");
scanf("%d %d", &nl, &n2);
printf("%d * %d = %d\n", nl, n2, nl*n2);

return 0;

29




=4

A

x1, y1)

o (X2, y2)

v

9| Ol
IEI

OJof| M=

#include <stdio.h>
int main() {

int x1, yi;
int x2, y2;

return 0;

30




e if .. else if ..

e switch®
® Ccase

 default

else

o=

. HHE

- |
[ =
¢ while &
e do..while

¢ for®

. 7|E}

e break &

e continue

-
(L

=
L
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r

4o Xt o Jm F

1

MO

mo Y

|0

input score:
Perfect!
You good!
Test passed.

input score:
You good!
Test passed.

100

60

#include <stdio.h>

int main() {
int score;
printf("input score: ");
scanf("%d", &score);

if(score == 100)
printf("Perfect!\n");

if(score >= 60) {
printf("You good!\n");
printf("Test passed.\n");
}

return 0;
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H L X operator)

- & ORI EHA (AL AL 22 HLOHE X[ ALK
e true(=2|™ &, 1), false(=Z|™ HZA, o) Hitzt
Of LEXE ALt Of o|0O] At
- a==b 29t b7t 227t >
= al=b alt b7t ZX| Y27t >
< a<b aZt b2 Lt 227} >
> a>b a’t bELCH 27} -
<= a<=b a/t bEC} AL 2427} >
>= a>= aZt bECH AL} 227} >
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A At Xt (operator)

« Hjl ALEKp(LEA HLERT)

#include <stdio.h>

int main() {
int a=6, b=2;

printf("%d==%d : %d\n", a, b, a==b);
printf("%d!=%d : %d\n", a, b, al=b);
printf("%d<%d : %d\n", a, b, a<b);
printf("%d>%d : %d\n", a, b, a>b);
printf("%d<=%d : %d\n", a, b, a<=b);
printf("%d>=%d : %d\n", a, b, a>=b);

34



2
- |
else —
=8 XS UtFol= 8% AE St
OFE=SIX| = 42 BE fdlic [l A=

qu% ol = :| I:||-0|. 607(—| O|M'O|

 —

S T2 IS XAMBHA|Q.

= "You
passed!’ & OtL|™ 'Failed. 'Retry it’ =

#include <stdio.h>

int main()

{

int score;
printf("input score: ");
scanf("%d", &score);
if(score >= 60)
printf("You passed!\n");
else {
printf("Failed.\n");
printf("Retry it.\n");
}

return 0;
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- =3| AR}

eand, or, not=

'

*true(l), false(o) Htzt

X} (operator)

AL | cHAX} | AHLS| O o|0Oj a4
AND && a & b |true® true 2|H >
OR | | a || b |SILIE2tE true™ true 2|H >
NOT | I3 true™ falseZE, false™ true Z|H >
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EUE - if

« H7|/47] BF 60 0|&0[0{0F &

#include <stdio.h>

int main() {
int pilgi, silgi;
printf("E7|2t 7| +E YH: );
scanf("%d %d", &pilgi, &silgi);

if(pilgi>=60 && silgi>=60)
printf("You passed!\n");

else {
printf("Failed.\n");
printf("Retry it.\n");

}

return 0;

= WI|/A7] & & SHLIEE 60 O|AO|H

St
=1

24
A

#include <stdio.h>

int main() {
int pilgi, silgi;
printf("E7|et 7| B+E YH: ");
scanf("%d %d", &pilgi, &silgi);

if(pilgi>=60 || silgi>=60)
printf("You passed!\n");

else {
printf("Failed.\n");
printf("Retry it.\n");

}

return 0;
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EUE - if

= 37 603 O|2tO| OfL|™H 2hA » 2707t 60HO|2HO| OfL{Y, H7|E 0™
0|gto] OfL|® B}
#include <stdio.h> #include <stdio.h>
int main() { int main(){
int score; int pilgi, silgi;
printf("input score: "); printf("E7| &7 H+E YH: ");
scanf("%d", &score); scanf("%d %d", &pilgi, &silgi);
if( !(score<60) ) if( !'(pilgi<60) && !(silgi<6@))
printf("You passed!\n"); printf("You passed!\n");
else else
printf("Failed.\n"); printf("Failed.\n");
return 0; return 0;
} }
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u if ... elseif ... else &

o b % o

A oo o _|>

-—
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#include <stdio.h>

int main() {
int score;
char grade;
printf("input score: ");
scanf("%d", &score);

if(score >= 90)

grade = 'A’;
else if(score >= 80)
grade = 'B’;
else if(score >= 70)
grade = 'C’;

else
grade = 'F';

printf("grade: %c\n", grade);
return 0;
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oJof| X|&

= BMI 7:”AI_|- #include <stdio.h>

int main() {
double w; // &FA

« HEZX| == XtAO] B2H (kg)S 7|9 double h: // 7|

X‘”—T,:,'—(m)gi L= 4reL|Ch. double bmi;

* 7‘||(kg':f° )9|‘ 9| (cm I'-?—l)% E,“f':l' scanf("%1f", &w);
OF BNIE AMSHCI A% SA| Kalgix | SR, )
5*1E4 }

e BMI —’FXIOH (= Z1}

- 18.5 O|2HO|H ‘XN B’

fujn

=80 2.

« 18.5 ~ 230|2+0|H 'HAl
« 23.0 ~ 25 O|3tO|™H 'ItH|Z!
« 25.0 O|AFEE{ = 'H|2H




#include <stdio.h>
int main() {
. -
switch — int score;
char grade;
re) OF o o O
Hl-EI—AI_-IEﬁH %I- _7F_?_O| LS T 7c:>|—|— ‘IT% printf("input score: ");
scanf("%d", &score);
switch(T4])
e - 1 1
C A2 Sy B, WY A suitch(score / 10) { score /10
L :
7|'6 case 9: [Jg_Jlk_] I-|"'|_'7|
rade = 'A'; A=
case of roak 74[_'°"'];A
ZFe M0t 7|.i case 8: git= BT
* AT oT - o
grade = 'B';
default: 7|2 break;
£ o case 7:
break: switch == grade = 'C';
break;
default:
grade = 'F';
}
printf("grade: %c\n", grade);
return 0;
} 41
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#include <stdio.h>

int main() {
int nl1, n2, res;
char op;
printf("Cfl: 10 + 5\n");
printf("ALE =4S LHSIMR\n");

scanf("%d %c %d", &nl, &op, &n2);

printf("%d %c %d = %d\n", nl, op, n2, res);

return 0;
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« 52| Bt S

int ¢ = 0;
while(c < 5) {
printf("%d \n", c);

C++;

int ¢ = 1;
while(c <= 5) {
printf("%d \n", c);

C++;

A wWw N - O

o b W DN =
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EES = 21

#include <stdio.h> Focket
int main() {
int num = 10; // 105E A[%}

puts("Rocket lunch countdown..");
while(num > @) { // eEC} AH
printf("%2d \n", num);
num--; // 1% ZABIHA
}
printf("last num:%2d \n", num);
return 0;

— O O e (1O =] 20 0 T

+ IR E 02 <At 0P| =8 E7

e SE AM™ num 422

A L—

v
o

lunch countdown . .

46



HFE2 3 - while

= 125 107X &=H ot/

1+2+3+4+5+6+7+8+9+10

sum| O 1 3 6 10 | 15 | 21 28 | 36 | 45
117 d L | | d L d L d L7 . a |
7 S 7 B * Nz R Nz
+1 +1 +1 +1 +1 +1 +1 +1 +1 +1
B while(c < 11) while(c <= 10)
sum = 0 sum = sum + C sum = sum + ¢
c =1 c=c+ 1 c=c+ 1




of

while(c

int main() {

?

##include <stdio.h>

int sum=0, c=1;

10) {

SuUm=sum+c;

C++;
}
printf("%d \n", sum);
}
>
. 53
55

| STEP | sum | c

©W 00 N O U1 A W N =

—_—
= O
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55
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##tinclude <stdio.h>

int main() {
int a, b;

return 0;
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}

}

« SO{2Y[E ALEot0] HE LHES| Al
A 25 F=9| ofX

HE

22 _ while

= 00:00 £ H ~ 05:59 7HX| AlZE =8

#tinclude <stdio.h>

int main() {
int hour=0, min=0;

puts(“clock time");

while(hour < 6) {

T min = O;
while(min < 60) {

. min++;
}
printf("\n");
_ hour++;
}
return 0;

printf("%02d:%02d "

, hour, min);
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HIE2E 2 _ do ... while

 AFE
#include <stdio.h>
int main()
{
int n;
do {
printf("\n[MENU]\n");
printf("1. New Game\n");
printf("2. Load Game\n");
printf("3. Save Game\n");
printf("4. Quit\n");
printf("what's your choice:
scanf("%d", &n);
}
while(n != 4);
}

");

[MENU ]

1. New Game

2. Load Game
3. Save Game
4. Quit

what's your choice:

[MENU ]

1. New Game
2. Load Game
3. Save Game
4. Quit

what's your choice:

[MENU ]

1. New Game

2. Load Game
3. Save Game
4. Quit

what's your choice:

Process returned 0 (0x0)

4
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» 52| HHE diBq

for(int i=0; i<5; i++) {
printf("%d\n", i);

for(int i=1; i<=5; i++) {

printf("%d\n", i);

A

~won o oo i

o b~ W N =
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= 125 15At0| 39| B~ =

#include <stdio.h>
int main() {
for(int i=3; i<=15; i=i+3)
printf("%d", i);

22 - for

« 109E 1HX| 712 ECtHS

i
1

#include <stdio.h>
int main() {
puts("Rocket launch countdown..");
for(int i=10; i>=1; i--)
printf("%d ", 1i);

—_ = O O W
(U2 BN\

>
"=

=
=5

Rocket launch countdown...
10987654321
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HIE 2 _ for 21} while £ H| 11

| . a
" for — = while &«
// 152 H sHHX|Q A E Fots 2 H // 158H sHHX|el A E Tt ZE20H
#include <stdio.h> #include <stdio.h>
int main() { int main() {
int sum = 0; int sum = ©;
int n; int n;
for( ; n<=5; n++) { ;
sum= sumT+ n; while(n<=5) {
printf("sum off 1 to %d: %2d \n", n, sum); sum = sum + n;
} printf("sum of 1 to %d: %2d \n", n, sum);
return 0; > N++;
} }
return 0;

—
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32| Hi== A &)= ot §=0|= 32| Hi= AN 20 otLtef Z== nOf YHEICE,
AYOM &2 25 ASFOHAN EX= (n= 500 2re| Xt &H==0|C})

I:||:|-7-” E'ﬁt - %Eﬂ

32| Hi== A ¥el &0 &7| #let =& = -

=S M| 2R I FE n7HX| =AMUZE SHE 512 55
Z

=Hot=0|, 32| Hi==(3, 6.9 ...)2 EF
E

A[AIOﬂ':'[_,_X = skl i
o12] A0l =M S Yol M2 +8 » 250 259 0f
F=2+= A YO|LT.
2rof 3o Hi=~S E2OF st EOIEH,

= Ol "B ="E EIC}H 7 12X45X7
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RNEIW =0 d= nO| YHEICE,

(B, 1 <= n <= 100,000)
>0
=g
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RNEIW =0 d= nO| YHEICE,
(Et, 1 <= n <= 100,000)

=
=9

« ©eF OfAl

#include <stdio.h>
int main() {
int n;

scanf("%d", &n);

int ans = 0;

printf("%d\n", ans);
return 9;
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of ot 1 2H 308X =
ST},

2) € M =0 CHotY == etrt,

—

int main() {

for(int n=1; n<=30; n++) {

printf("%4d ", n);

¥

int main() {
for(int c=1; c<=10; c++) {
printf("[%d2t1\n", c);

for(int n=1; n<=30; n++) {
printf("%4d "

> N);

}
printf("\n");

}

3) Al 7H SHAO| CHBHO] Z2Bhct,
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» SHE for 22 0|50 ALl =H07|

#include <stdio.h>

int main() {

for(int d=1; d<=5; d++) { // 1EH5E sEHIEX]
printf(" %d Th\n", d);
for(int x=1; x<=9; x++) { // x15E x97}X|

printf("%d x %d = %2d \n", d, x, d*x);

}
printf("\n");

}

return 9;
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MO & - break

» break &

. switch, for, while, do ~ while29| g4

= WX LE27] 2[5 AHE

. TR JPhe 2EE HOjHt)

= AtE Of

e 1+243++n 9| 0| XS

A0l & [, 1 Ho| #3 nS Tt
2332 BB

o2 1000|

.LL

#include <stdio.h>

int main() {
int sum=0, n;

for(n=1; true; n++) {
sum = sum + n;
if(sum >= 100)
break;

}

printf("n: %d, sum: %d \n", n, sum);

return 0;
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 Greatest Common Divisor,

° _|_O|:A

. K Of 344 ofy

thol 4

)30 42 ECHS%HT:2x3
15 21 E=StiT

= gcd(30, 42)
= 1lcm(30, 42)

of: ol2] +9| 35

O

|
(@)

210

GCD

2 X3XSx7

x| A~ S Hif =

* Lowest Common Multiple, LCM
- SHiz: O 2| 5= Hisx

C A ABHIS: DHS B A2 S

30 = 2x3x5 5
42=2x3 | ix7
ZCHBbS: 2x3 G
E|AZHYS: 2 X3 X 5X 7

A =30, B =42
e A X B=G Xx L
e 30 x 42 = 6 x 210
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Z|CH &%+ 7ol7|

ORI MY P AATE
ca< b XA 0|8 int main() {
« 3U= 1 BEE a ARO|Of| XY int a, b;

scanf("%d %d", &a, &b);

printf("test at ");
for(int i=a; i»=1; i--) {
printf("%d ", i);
if(a%i==0 && b%i==0) {
printf("\nfound: %d\n", 1i);
break;

o }
. A2y

= }
30 42

test at 30 29 28 27 26 25 24 23 22 21 20 19 18 17 16 15 14 13
12 11 10 9 8 7 6
found: 6 66
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»do .. while 2922 ¢

#include <stdio.h>

‘ ‘#include <stdio.h>
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X2 - continue

#include <stdio.h>

* H'—l-%_'l?—_% 7(I—l-CI;OI-I — - - = T
= = int main() {
for(i=1; i<=20; i++) {
if(i%2==0)
= AFE O continue;
+ 1RE 207tX9] H FOIM 240 printf("%3d ", i);
= ZESIA|2. (for, continue & }
= return 0;
= A EY AL)




]
104

Ol

0{0
<

joll

function) Ef?
oStLt2 RO &

L

—r

o

k!

=]
O =

2 ]2l

=]

o= O

S~

StC},

Al

|4
10
jor
Gl
ojru
e

=
|

U

|y

oJ

P
wr

JoO

H~E

EA|X

_IT

Ct.

]

—
(o
—

(subroutine)O|2t1 =

10

or
=g ol
S-0]
U =<
~ <k
< Bl

=L A
Sha=

Function
X5

/N

50

Tl

ar

il
s
g N
~ N
]

= A

72



LHQ ol

siET el S5
T
stdio.h HE Y8 &+ 5= H9
conio h j;lgl == Y=g &+ 5=
math.h = &2 03 = F9
stringh  2AtE XN2| g d2
ctypeeh AL A O{E=Z FO

AL
=1

L} xFt

o

ot

AL
T

printf( ), scanf( ), gets( ), getchar(),
puts( ), putchar( ), fgetc( ), fgets( ), fputc(),
fputs( ), fopen( ), fclose() &

getch(), getche(), putch(), cgets() &

sin( ), cos(), tan('), exp( ), log( ), sqrt(),
abs( ), fabs( ), pow( ), fmod()

=
[S)

strcat( ), strcpy( ), stremp(), strncat() =

isalpha( ), islower(), isupper( ), tolower(),
toupper() &
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. . o|EiE shAm (Ol
(B0l 2lEE] S ([, 252.]) [EER] &3 (29
int  main () {
{ g0 2K
=o1; }
_‘?_II-2.
Lo ) ° ° o
int add(int a, int b) {
int sum = a + b;
return sum;
=1 o/~ 10
Ion, —T : }
+ | s
[r‘etur‘n] [ElE.JﬁA \ / CHAd HY
Fiinction char upper‘(char‘ Ch) {
==o| =X return ch-32;
AD }
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0 usia)
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void func()
void func(void)

int func()
double func(void)

void func(int ar)
void func(char c)

int func(int ar)
int func(int a, int b)
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=Case2: 2 0, 2|H 0 = Ot A
« 7|5 x+y W= TOILE
ﬂim y me int add(int x, int y) {
e O .
2T o: add int sum = x + y;
« Ol=: x, y 274 return sum
x:int, y:int }

- 2|E4d: x+y

2|EHA: int




)LfJELJ(f JEi()l

#include <stdio.h>
int add(int x, int y) {
int sum = X + y;

return sum;

int main() {
int a=3, b=4;
int sum=0;

sum = add(a, b);
printf("%d \n", sum);

S
HEZ|HA YOoL= ¢
C K|SfEial S B Al MM g3,
g7t SEEH XNsS = o =ICE,
e =ha L
add sum 7
y 4 A
X 3 A
cop
e =ha w
main sum 7
b 4 S
a 3 ¢
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#include <stdio.h>

int add(int a, int b) {
int sum = a + b;
return sum;

}
int pow(int x, int y) {
int r=1;
for(int i=1; i<=y; i++)
r = r*x;
return r;

char upper(char ch) {
return ch-32;

void output() {

printf("--------------- \n");
printf(" function %cest\n", upper('t')); //&T2=
printf("--------------- \n");

printf("2+3 = %d\n", add(2,3)); //&T=2=
printf("273 = %d\n", pow(2,3)); //YT==
return;

int main() {
output(); //ET=2=
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Debugglng Step into [shift]+F7

File Edit View Search Project Build Debug Fortran wxSmith Tools Tools+ Plugins DoxyBlocks Settings Help

FRR@ I NE G QR|)i% > 8 & 0 [bbuy VB> EEE LG Yo |EED
§|<g|oba|> v||ac|c|(int a, int b) : int VH 4" @ I:"
YV OMA =E=EECCS|QQ|S C| VR D v e > £ €Faa #
Management X maincpp X maincpp X
{ Projects  Files FSyEI 2 | a
@ Workspace 3 |Hint add(int a, int b) {
Bﬂstart 4 int sum = a + b;
- =@ Sources 5P || return sum;
: - D main.cpp 6 L
B ﬂ HelloWorld 7
&-@@ Sources 8 |Hint pow(int x, int y) {
9 int r=1;
10 for(int i=1; i<=y; i++)
11 r = r*x;
12 return r;
13 |5}
14
15 |Echar upper(char ch) {
16 return ch-32;
17 |1}
18
19 |Hvoid output() {
20 printf("--------------- \n");
= Functior 21 printf(" function ¥cest\n", upper('t'));
22 printf("--------------- \n");
a |2 23 printf("2+3 = %d\n", add(2,3));
b 3 24 printf("2~3 = %d\n", pow(2,3));
25 return;
=l Locals 26 !
sum | 5 —
28 I_TIin't main() {
ch Mot availat 29 output(): v
< >
a 2 int
Logs & others x
‘" [# Code:Blocks X Q& Search results X @Cccc % L¥Buildlog X ® Build messages X [#] CppCheck/Vera++ X |#| CppCheck/Vera++ messages X [#] Cscope X ﬁDebugger X |7 DoxyBlocks X [F|Fortran info X tm
At D: WM;ProjectSWM;omtthHeI loWor | d#main, c;; 23 ~
At D:#MvProjects¥dlgorithoibel loWor [d¥main. cpp:d
At DoMyProjects#higorithntHel loWor | d4main. cpp b
W
Command: v||h”x|

D:WMyProjectsWAlgorithmWHelloWorldWmain.cpp C/C++ | Windows (CR+LF) WINDOWS-949  Line 5, Col 1, Pos 68 Insert Read/Write  default =
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#include <stdio.h> int add(int a, int b) {
int sum = a + b;
int add(int a, int b); return sum;
int pow(int x, int y); }
char upper(char ch);
void output() { int pow(int x, int y) {
printf("--------------- \n"); int r=1;
printf(" function %cest\n", upper('t')); for(int i=1; i<=y; i++)
printf("--------------- \n"); r = r*x;
printf("2+3 = %d\n", add(2,3)); return r;
printf("273 = %d\n", pow(2,3)); }
return;
} char upper(char ch) {
return ch-32;
int main() { } Logs & others
output(); ‘' |# Code:Blocks * ( Search results X [#| Cece X ﬁEuild log *
} File Line Message
D:#fMyFrojects. .. errar: ‘upper’ was not declared in this scope
D:#MyProjects. .. note: suggested alternative: ' _popen’

D:-ttMyProjects, ..
D-#MvProjects. ..
D:MvProjects. ..

error: ‘add’ was not declared in this scope
error: ‘pow’ was not declared in this scope
note: suggested alternative: "putw’

]
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#include <stdio.h>
// add®| sumX} mainl| sume S HO|QI

int add(int a, int b) {
int sum = a + b;

return sum;

int main(){
int sum=0;
add(1, 2);
printf("%d\n", sum);

S|

| -

o4

A A H

I__II_

T A

#include <stdio.h>

// add®| sumd} mainl| sum= &<

2 H
int sum;
void add(int a, int b) {

sum = a + b;

int main(){
add(1, 2);
printf("%d\n", sum);
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x 3% ) =]

n

n~1

n-2 HIS: HIENS LHATHR 2I0IM ORIE £MIIE S&E,

n-3 HIEHS 2

n~—

chTE= OO SI=E £MOIE S8

I=

84



HEC| S

« H| THA S Z

« ex) WEZ[H A4t

nl=nx(n=1) x (n=2) x = x 1

5l=5x4x3x2x1=120

3l=3x2x1=6

Al

CHO}
=

#include <stdio.h>
int factorial(int n) {

return r;

¥

int main() {
printf("6! = %d\n", factorial(6));

}
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she &
- ex) WEZ[H ALt
5l =5 x4 x 3 x2x1
51 = 5 x 4!
41 =4x3!
31=3x21
21=2x11
11=1
f _{ 1 n=1
) nxf(n-1) n>2

AL
T
2r OA
. SEZT70| YOW F3RmI} foz o
int factorial(int n) {
if(n <= 1) // =24
return 1;
else

return n*factorial(n-1);

// 33 R QAXIE g0
// Ofgilet Zto| ESd|E
int factorial(int n) {

return (n<=1)? 1 : n*factorial(n-1);
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factorial(5) @
Ndf g

Al NETES

|
L=DN; @ . 4

return n * factorial(n - ‘l}‘

L» return n * factnnal(n - 1);
\ (3) * (2

return n * factorial(n - ‘I}

L» return n * factnnal(n —~ ‘1}

@ Ié’ﬂ,@% L» if (n ==

I."Etuf@
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HH &+ - A=A

##tinclude <stdio.h>

= y |1int count(int stairs) {
T =

n 72t

REE

int main() {
int stairs;

scanf("%d", &stairs);

printf("input number of stairs:

");

printf("total method of climbing: %d\n", count(stairs));
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int kor[5];

kortH== 57§ Bt

kor[0] ~ kor[4]
Hig2l =

coHl QIARE Ao o)

orto] Jkort1 | koriz) | kori3) | oria]
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= [ 2 » X7|3}
kor[@] = 60; int a[5] = {3,2,7,6,9};
kor[1] = 60; int b[] = {3,6,5,4};
kor[2] = 60; int c[5] = {5,8,3};
kor[3] = 60; int d[5] = {4,};
kor[4] = 60; static int e[5];

« HHE S 0|23} [
for(i=0; i<5; i++)
kor[i] =
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« H{EO| +=2|1

#include <stdio.h>

int main() {
int a[10]={1,3,7,6,4,8,9,12,2,10};

// @HEE A[XSL0] n-10{M EH0 &

for(int i=0; i<10; i++) {
printf("%4d", a[i]);

}

return 9;

" t“lea—— fE@§|2

#include <stdio.h>

int main() {
int a[10]={1,3,7,6,4,8,9,12,2,10};
int i;
// @HEE A|ESIY n-100M EHO &
i=0;
while(i<10) {
printf("%4d", a[i]);
i++;
}

return 9;

93




«HiEo T

#include <stdio.h>

void main() {
int i, sum=0;
int a[10]={1,3,7,6,4,8,9,12,2,10};

for(i=0; i<10; i++) {
sum = sum + a[i];

}

printf("sum = %d\n", sum);

s I| H LFXK|=

#include <stdio.h>

void main() {
int i, fibo[10]={1,1};

for(i=2; i<10; i++) {
fibo[i]=fibo[i-1]+fibo[i-2];
}

for(i=0; i<10; i++) {
printf("%4d\n", fibo[i]);
}
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» O ZFEAHH A9 K|

(s)

13

3@_‘

.4

29

37

P EIEIO

HEXERKE )

R332 382 15¢ 3¢

LAEAER IR 1O)

T R E R AN K

43 a5

53¢

59 61
iIsPrime[]| idx | O 1 2 4
val | 1 1 0 0

=] | (SRR IE| 2|3 3¢ 38 3¢

O
=

s AAJLC

#include <stdio.h>
#define MAX 101
int main() {
int cnt=0;
int isPrime[MAX] = {1, 1, 0, };
// 1: 250td, 0: A=
for(int i=2; i<MAX; i++) {
if(isPrime[i]==0) { // 2IAM=CF 2==0[11
printf("%5d", 1i);
cnt++;
for(int j=i; j<MAX; j+=i) // H =
isPrime[j]=1; // 2=0d2= AE
}
}
printf("1~100 %d7f2| A=F ZOtd\n",
}




Before Swapping

After Swapping

HRE A

—

#include <stdio.h>

int main() {
int a=5, b=7;
printf("%d %d\n", a,

a=b;
b=a;

printf("%d %d\n", a,
return 9;

b);

b);

—-] LT1
—_] =]
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(L) w3resource.com

#include <stdio.h>

int main() {
int a=5, b=7;
printf("%d %d\n", a,

printf("%d %d\n", a,
return 0;

b);

b);

—1 T
T —




SWAP

12 P

#include <stdio.h>

// C++2| Genericlt ZZXIE ALE
template <class T>

inline void SWAP(T& a, T& b)

{

T temp = a; A H| =}
iy e
O =

HO{Lt=
==

int main() {
int a=5, b=7;
printf("%d %d\n", a, b);

SWAP(a, b);

printf("%d %d\n", a, b);
return 0;

—1 T
T —
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- oA " 12|
void selection_sort(int a[], int len) i j
{ 4 3 6 2 5
int i, j, t;
for(i=0; i<len-1; i++) { i J
for(j=i+1; j<len; j++) { 3 4 6 2 5
if(afi] > a[3]) {
t = ali]; : :
a[i] = a[jl; : J
}
} } ! J
) (2) | 4 6 5 5
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void selection_sort(int a[], int len)

{

int i, j, t;

for(i=0; i<len-1; i++) {
for(j=i+1; j<len; j++) |
if(a[i] > a[3]) {

t = al[i];
a[i] = a[3j];
a[j] = t;

i
2 4

i
2 4

i
2 | (3)
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void selection_sort(int a[], int len)

{

int i, j, t;

for(i=0; i<len-1; i++) {
for(j=1i+1; j<len; j++) |
if(a[i] > a[3]) {

t = a[i];
a[i] = a[3j];
a[j] = t;

()
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##include <stdio.h>

// &80|7} 1en? HIE aE§ =Xtz 2
void selection_sort(int a[], int len) {
int i, j, t;
for(i=0; i<len-1; i++) {
for(j=i+1l; j<len; j++) {
if(a[i] > a[3]) {

t = a[i];
a[i] = a[J];
a[j] = t;
}
}
}
} Quiz) THOF Y2kt HHEE HERH
ol RS =HtH L7}

// ZO|7t 1en®! HIE a2l E= AAE EH
void show_array(int a[], int len) {
for(int i=0; i<len; i++)
printf("%5d", a[i]);
printf("\n\n");

int main() {
show_array(a, 10);
selection_sort(a, 10);

show_array(a, 10);
return 0;

int a[1e0] = {7, 5, 8, 1, 4, 9, 2, 10, 6, 3};

105




STL sort() & AIE96}7]

= sort() 2 ALE
o C++2| STL AIE
« #include <algorithm> E &
- sort(HHEA|&E, HIEE, [H
« 7|2 Higtre= WEAE

[ R T

o H| WS (trued I swap =)

ok
BT

/] LEXNTE
bool asc_order(int a, int b) {
return a < b;

}

/] WEX=&
bool desc_order(int a, int b) {
return a > b;

1)

#include <stdio.h>
#include <algorithm>
using namespace std;

void show_array(int a[], int len) {
for(int i=0; i<len; i++)
printf("%5d", a[i]);
printf("\n\n");

int main() {
int a[10] = {7, 5, 8, 1, 4, 9, 2, 10, 6, 3};
show_array(a, 10);

sort(a, a+10); /] LEX= HHE
show_array(a, 10);

sort(a, a+10, desc_order); // LHEX= HH
show_array(a, 10);
return 0;




#include <stdio.h>
#include <stdlib.h>
#include <time.h>
#include <algorithm>
using namespace std;

##tdefine LEN 100

void selection_sort(int a[], int len) {
int i, j, t;

for(i=0; i<len-1; i++) {
for(j=1i+1; j<len; j++) {
if(a[i] > a[3]) {

t = a[i];
ali] = a[jl;
alj]l = t;

}

void show_array(int a[], int len) {
for(int i=0; i<len; i++)
printf("%5d", a[i]);
printf("\n\n");

void rand_array(int a[], int len, int max) {
srand(time(NULL));

for(int i=0; i<len; i++)
a[i] = rand() % max;

}

bool desc_order(int a, int b) {
return a > b;

}

int main() {
int a[LEN];
rand_array(a, LEN, LEN*10);
show_array(a, LEN); // before sorting

selection _sort(a, LEN); // selection ASC sort
show_array(a, LEN); // after sorting

sort(a, a+LEN, desc _order); // DESC sort
show_array(a, LEN); // after sorting

return 0;
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Chxbel B

» KR H{EO| MA
152 HiE S o 7 8 =2 A
it o] WH JPLXE J4El HiY
Mo
GO Ef S HY Q[ 2)[Y 2]
Mot o
int a[4][5];
a[0][0] a[0][1] a[0][2] a[0][3] a[0](4]
a[1][0] a[1]{1] a[1](2] a[1](3] a[1]{4]
a[2][0] a[2][1] a[2][2] a[2][3] a[2][4]
a[3][0] a[3][1] a[3][2] a[3][3] a[3][4]

« 2AtE HiEO| 7|3

int a[2][3] = {3, 2, 7, 6,9, 8};
3 2 7
6 9 8
int b[2][3] = {5,8,3,7};
5 8 3
7 M 7] My 7|
int c[2][3] = {4, };
4 0 0
0 0 0
int d[2][3] = { {3, }, {7.6,9} };
3 0 0
7 6 9
int e[][3] = {{3,2,6}, {769} };
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« 25 R HIE2| =2[(d #4)

Chxbel Bj

#include <stdio.h> 1 >l 3| 24
#define ROW 3 5| 6| 7
#define COL 4 9l 10! 111 12
int main() {
int a[ROW][COL] = {
{1J2)3J4}J{5)6)7)8}J{9)16J11J12} };
for(int r=0; r<ROW; r++) { /)l =3
for(int c=0; c<COL; c++) { //€ =2
printf("%4d", a[r][c]);
}
printf("\n");
}
return 0; 12 3 4
5 B 7 8
} 5 10 11 12

« 2AtE HIEO| =2[(8 Fd)

#include <stdio.h> 1 > 3| 4
#define ROW 3 5| 6| 7
#tdefine COL 4 gl 10 11| 12
int main() {
int a[ROW][COL] = {
{1,2,3,4},{5,6,7,8},{9,10,11,12} };
for(int c=0; c<COL; c++) { /18 =2
for(int r=0; r<ROW; r++) { //& =3
printf("%4d", a[r][c]);
}
printf("\n");
} 1 5 93
return 0; 2 6 10
3 7 11
} 4 8 12
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#include <stdio.h> int main() {
input();
#define ROW 9
#define COL 9 int mr, mc, max=-1;

int a[ROW][COL];

void input() {
for(int r=0; r<ROW; r++)
for(int c=0; c<COL; c++) {
scanf("%d", &a[r][c]);

printf("%d\n", max);
printf("%d %d\n", mr+l, mc+1);
return 0;
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« A Q]

g2\ 42

—

##tinclude <stdio.h>

typedef struct {

int x, y;
double r;
} circle;

int main() {

/1 Hel &
/1 #He| BHX|E

circle c1 = {1, 2, 5};

printf("

(%d, %d) %1f", cl.x, cl.y, cl.r);
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Z23 oA A SIS A M
#define N 100 /] B¥= FA| HeC o« ATl L)
#include <stdio.h> /] = FX| Y=L . 0(101) > 0(1)
void main(int) /] BEE FX| E=C. * 0(2N+1)->0(N)
{ L XIHHOX g2 B BA
int sum = 0; /2 3l 17
) o 2 2
int i; /) A % 13 O(N®+N) > O(N¥)
* O(N + logN) » O(N)
for(i=1; i<=N; i++) { // 2 == N+12 + 0(100 x 2V + 500N2) - 0(2M)
sum = sum + i; /] A =2l N
}
» QA ZE2 O] Big-0: O(N
printf("sum:%d\n",sum); // &2 == 13| O:" | = | 8 ( )
// 3 Bl 141 +N+1 + N+ 1 =2N+ 42
}
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o &f=AlZt(constant time)
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- 1007 €M, log,100
(@)

S7t 20 m2p 2l Al
Zto| 21 stz Jgfj= =2 LEfLt
0L A™A

|2

3.X
6.X
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HlQ HI|o| B&

= O(N) = O(N logN)

« MAA|ZH(1inear time) « M 21 A|ZF(linearithmic time)
- HOJE &2o| S710 et Al AlZt - HOlE 2o S710f et Al Al

O &A} gt defj== LIELH O &X &+ + 2% HEQ| 1
. HO|E =720l MH|st0] AlsH A| ci T2 LERE

{I0| S75t= &F - HO[E Q] S7IEEC} dlAIZt0| O
e W7F. =43 Qg|S 0| 75l &4
- S2[F O

. HUE|X| e HIYOA HoHZE A - EAE[F 0
- Y Y
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= O(N*%) = O(N3)
« O|XtAl AlZt(quadratic time) o MXHA AlZH(cubic time)
- OO|E &2 S7t0f el A Al - OOl Yo S7t0f mat 2 Al
O Okt BH4x(N?) JF T2 LEpL 0| Ak oM(NB) dojma LpEbL
- HIOIH S7IE0| M&=22 H| Y5t - HIOIH & SH[5t A A
2d AlZH0| St &3 {to| S7tot= &%
- WIUL LI EE - I BX e[S
- EEF 0 - Y2[E
- MEHYH - WH o7 Aot S
- HEXHE

Q HIC BR
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HlQ ®7|9 SR

= 0(2M)

K|== AlZF(exponential time)
HOlE el S710f mat A AfZt
O] X|== &==(2N) dej== L}IEtE
HIOlE S7r2of met 2 A
X4 HEjZ S7bste 54
B7t: 2o L1ZF
12| O

2N TP SEZ A

o © o1 XM

» O(N))

S AlZt(factorial time)
OlF 29| S7t0f mef &2l Al
WEZ| A st (N1) D ZZ LIE
It AME
gag|E o
- HREETZA BMZ ot QT ZX
S 2
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HlQ ®7|o| &

« 2iEE g5

«0(1) > 0(ogN) > 0(N) > O(NlogN) > O(N?) > .. >002N) > 0(N")
(oot 5o ¢ coos] [ERETIEnE

Big-O: functions ranking

BETTER
4 * 0(1) constant time
fé * O(logn) log time
"% * O(n) linear time
S * O(nlogn)  log linear time
* O(n) quadratic time
id * 0(n) cubic time
PO 0(27) exponential time

Elements

123



N < 100

N < 500

N < 3,000

N < 5,000
N < 1,000,000
N < 10,000,000
N > 10,000,000

https://rh-tn.tistory.com/3

A ZHA|

NS 7|0 [E J

AN =EEE
O(N!
O2N)
O(N%)
O(N3)

O(N2logN)
O(N?)
O(NlogN)
O(N)
O(logN), O(1)
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STL

(Standard Template Library)



STL

Standard Template Library

- .

2. Vector(Stack®| A2 = =h

3. Queue
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vector 71E{|0|

= vectorl| &% = vectorl| M9
- A7|E HE = Ae =X AHO|Y vector<At2 &> B,
« O XIE2EdE N& 7ts vector<At=2d> HEH = { X743}
. S 9IX|0] AX0| WA M2 s
o HIE{O| LATFAFQIE| T AFK =0 ha} vector<int> vi; // intE = HH
Asoz 37| ZEE vector<double> v2; //double= EH= H|H

|

* #include <vector> &8

o AAO[ FIH/AH|
HEO| FF U AME &R, 41X 7t
M. push_back(x)

H
AHl: push_pop();
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= vectorl| AIE O Al

vector Z1E|0| L

#include <stdio.h>
#include <vector>
using namespace std;

int main() {

vector<int> v = {2, 4, 5}; 2|als // HE v M1 8l X755t

v.push_back(6); 2]als // T OFX[EH0] 6 & &

v.pop_back(); 2]a]s] // W OORX[F A KA

v[1] = 3; 2[5 // 18 QIEI A0 3 & ¢

printf("%d\n", v[2]); prints 5 // 2" QlElA JA =

for(int x: v) printf("%d ", x); prints 2 3 3 // HH &=3|5IHM =

v.reserve(8); ARG // HEO 2PE o222 g7tz =
v.resize(5, 0); NERE // HECel 37| s2 ZHEStD Bl 7t 022 X F
printf("\n%d\n", v.capacity()); // BE7L XX[ol= S =5

printf("%d\n", v.size()); // HEel 37| =%
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vector Z1E|0| L

= vectorl| HAE

Member Deccrintion vector pop_back()
Function B end()

atposiion)  ate] SIx[of] Q< gt 2le “
capacity() vectoro| 37| 2| & L2 3 4 5 | 6 1 = pushback)
clear() Vector®| B = Zt ALK / b
empty() VectorZt H|} S ™ true 2| H Peging SizeQ
pop_back() Vector?| OFX|at ZF 2| &
push_back(value)  VectorQ| OFX|2H0f| 2f M &
reverse() Vector®| B & Zro| K| HHH
resize(n) Vectore| 37| =M
resize(n, value) Vector®| 37|, X7|3f =™
size() Vector®| £=9| 7§ 2| H

swap(vector) Vectorl| L& w=t
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vector Z1E|0| L

= 1K HEO| 3 " 2KtR BEO| 3
#include <stdio.h> #include <stdio.h>
#include <vector> #include <vector>
using namespace std; using namespace std;
int main() { int main() {
vector <int> v = { 6,2,9,7 }; vector<vector<int>> v =
// 1 { {3, 1}, {2, 1, 5}, {6} };
for(int i=0; i<v.size(); i++) {
printf("%d ", v[i]); for(int i=0; i<v.size(); i++) {
} for(int j : v[i])
puts(""); printf("%d ", j);
//EE2 puts("");
for(int 1 : v) { }
printf("%d ", i); }
}
}
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vector Z1E|0| L

< 2xbel HE{O| 239 H

##include <stdio.h>
#include <vector>
#include <algorithm>

using namespace std;
int main(void) { // |v[O] v[1]

for (int 1 = 0; i < v.size(); i++) {
sort(v[i].begin(), v[i].end());
}

for (int 1 = 0; i < v.size(); i++) {
for (int j = 0; j < v[i].size(); j++) {
printf("%d ", v[i][j]);

}
printf("\n");
}
return 0;

v[2]

vector<vector<int>> v = { {3, 1}, {2, 1, 5}, {6, 4} };

*v[1][2]
*v[1][1]
*v[1][e]

5 | D:MyProjectsTestWTestWbin#WDebugWTest.exe

5

_IL._I._I.
O DD

Process returned O (0Ox0)
Press any key to continue.

execUtion time

» 0,040 s
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queue

" Queue » MG AFE O
« CHEAQl FIFO(First In First Out) #include <stdio.h>
;135 #include <queue>

using namespace std;

& e int main(void) {

Back Front queue<int> q;

Dequeue q.push(1); q.push(2);
Enqueue q.push(10); q.push(20);

while(!qg.empty()) {
« 7|2 QAE pr‘intf("°/d\n", g.front());

. ; A A7
* push, pop, empty, front, back g.pop(); // &= HA
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queue

* Queuel| =3

#include <stdio.h>
#include <queue> int main(void) {
using namespace std; queue<int> q;
// 72 g WE=E 2™ pop()dliOF 5t7| M0 // QO 12E 10At0] 2+E XLt
// =2|7t 27tSStEE2 Q2 AIEZ2 @0 HIHEC} for(int i=1; i<10; i+=2) {
void output_Q(queue<int> Q) { g.push(i);
printf("Q:["); }
while(!Q.empty()) {
printf("%2d ", Q.front()); output_Q(q);
Q.pop(); }
}
printf("], ");
}
Q 1 3 5 7 9 q 1 3 5 / 9
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- AP TRE?

« Atz E 85k HOHE =X82

= LHEAZ HEIE 2[0|

Array & Limked List

Access A[k] in 0O(1l) time!

>

ddddddoddno

Access L[k] in O(n) time!

—

—

—

—

X

E
. A
. EXHEA
LR
Sedarcin steps: 8

57

i I3 e 53 0 ) ) d R K K B0

Liow high

113 ] 5] 7 ufis)izfiof2s]o) s1)37) 1] 43]47] 53] 59
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Hif S

- 1178 HiE, A& Hi¥(vector)

2| AE

- HE2[2E, O|3HE, HAEAHE
AE

A EH

—

« ZUMZE(Last In First Out)

« MUAME (First In First Out)

* Double Ended Queue

x
ot
A

=

TOP

Bottom

'd
N

stack

T
—_
A1

—

—

queue

©

—n

H‘\il‘l‘\l!‘i{\li‘Il\ﬁ

'd

o

H

N

&

deque
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Kd

70
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ifl

Tz

ofLt 1ef

« E

=

-l

wad

10

0{0

—r

|

11

=

-l

wad

K]

750

a

1L

H(DFS, depth first search)

A
~h

=

atn 3l

™ (BFS, breadth first searh)

E
O

AL

ERTER
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= 42 (path)

= ¥ ™ (vertex)

t=

SES
O ad
St=0 A}

9|9

o]
[

« Ao|o] ™A™ sOf M

st

« T E (node)2t RE7|L

L
X

—r

L
—

1

0%

B
10
Nl
gl

ojnu
L
&0
0
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1o
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=
o

0|5 O, sOjA t2 Of
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LA
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<H

9|

= 9|2 (cycle)

M &ele 88 soM €2

ir

. gy

HE &2
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« 2 Zo| K

= X}7|ZH4 (1oop)

=
—
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|2 ot

Ol O
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- oo FEUAM 7] AHelez HE
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« J2j=o| Xtm 7

. OIFE|AE

(adjacency list)

Adjacency
Matrix
Adjacency
List
* CL'EOC& =
(adjacency matrix) 1 2 3 4 5
1 —r» 2 / 1 0 1 0 0 0
H} EH >
¢ 7|E|'o|-|=| 2 4 / 2 | o | o | o 1 0
3 —» 1 —»| 2 —»| 5 / 3 1 1 0 0 1

I
4]
I
o
o
=
o
=

|
v v
N
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